Break even practice questions
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BLUE RIVER KAYAKS (BRK)
Blue River Kayaks (BRK) produces kayeks for sale t0 the outdoor pursuits market,

The information below relates to the year ending 31 Decermber 2010

COSTS in 2010

Fixed costs
Labour cost:

£300 000
150 per kayak

SALES in 2010 = 1200 kayaks

PRICE per kayak in 2010 = £750

Material costs = £200 per kayak

The rent BRK pays for its factory is due to increase in 2011 by £20 000, Whilst the workforce.
has been persuaded that a rise in wages is not possible for 2011, it s estimated that material
costs are likely 1o increase by 1%, BRK operates in a very competitive market and a 3% risc
in price is as much as i feels it can charge in 2011 and yet stll match its 2010 sales volume.

fa)  Distinguish, with the use of examples. between fixed and variable costs. 7]

() Construct and label the breakeven chart fo the year 2010 on the graph paper provided
on page 3 and wrie the break-cven output figore n the box provided. ]

(Tear ot page 3 and place it in your answer book. )

fc) Based on the figures given in the passage, calculate by how much BRK's profit would
change in 2011 compared with 2010, 1]

(d) Explain the advantages and limitations 1o BRK of the use of break-even analysis. 5]
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BRI’s Break-Even Chart 2010
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ke to know whether he is likely to break even this year. He has given you
some additional figures so that you can advise him.

Extract of financial information for To the Max.

Fixed costs £16 800

Variable cost per event £140

Average price of each event | £300

Number of events planned 280
Figure 1

9 (a) Using the above information, calculate:

(i) the contribution per unit
@

Show your workings

E 2
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Max has been running his party planning business, To the Max, for a year now. He
plans birthday parties and small business events. He has built a good reputation and
has a growing number of customers. He is trying to expand his business by breaking
into the wedding planning market although he knows this is very competitive.

Max knows he is not good at finance and he has asked you to give him some advice
and guidance.
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(ii) the total costs

(3)

Show your workings
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(b) Complete the break-even graph below by plotting and labelling:

total revenue
total cost
break-even point.

Refer to Figure 1 for additional information.
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